* Doughnut Decimals

I can recognise thousandths and use them as decimals and fractions.

Match the decimal numbers on the doughnuts to the equivalent fraction on a mug of hot chocolate.
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* Doughnut Decimals Answers

I can recognise thousandths and use them as decimals and fractions.

Match the decimal numbers on the doughnuts to the equivalent fraction on a mug of hot chocolate.
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Doughnut Decimals

I can recognise thousandths and use them as decimals and fractions.

Convert the fractions into decimals and then place them on the correct doughnut on the number line.

195 _ 123 _ 154 _ 107 139 _ 168 _ 183 _
1000 1000 1000 1000 1000 1000 1000
0.10 0.11 0.12 0.13 0.14 0.15 0.16 0.17 0.18 0.19 0.20
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Doughnut Decimals Answers

I can recognise thousandths and use them as decimals and fractions.

195 _
1000

0.10
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Convert the fractions into decimals and then place them on the correct doughnut on the number line.

0.195 123 _ 5123 5% _ o1sq 107 _ 5107 139 _ 5139 168 _ 5162 183 _ 9183
1000 1000 1000 1000 1000 1000
0.11 0.12 0.13 0.14 0.15 0.16 0.17 0.18 0.19 0.20
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Doughnut Decimals

I can recognise thousandths and use them as decimals and fractions.

. . . 1000 . . .
When added together, each row and column totals 1 which is equivalent to 7--o . Write the missing decimals on the doughnuts and the

missing fractions on the hot chocolates to complete each grid.
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Doughnut Decimals Answers

I can recognise thousandths and use them as decimals and fractions.

When added together, each row and column totals 1 which is equivalent to —--
missing fractions on the hot chocolates to complete each grid.

. Write the missing decimals on the doughnuts and the
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